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#31 | HIISBZXE1{7 9.75 &8 0.005H(f)/ccl o -
#32 | HIISEZXE18 9.88 ZE5HH 0.0050H(f)/ccl ot =
#33 | HIISEZXE19 9.89 2 &8 0.005H(f)/ccOl ot -
#34 | HIISB2XE20 9.77 ZE8HH 0.0050H(f)/ccOl ot =
#35 | HII22ZXE21 9.75 2E8 0.005H(f)/ccl ot -
#36 | BAS-2XZAHA - - - 0JH/100Al OF -
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#3 SXFAH 9.91 AZ=5H 0.0020H(f)/ccOl o -
#4 2B A 9.41 ZE5HH 0.00274(f)/ccOl 2 -
#5 | AFHEAXA 9.94 &5 0.005H(f)/ccO| o -
#6 | HEXFEHXA2 9.95 2E5H 0.0057H(f)/ccn| o -
#7 | HAERFB(AQ]) 9.95 AZ5HA 0.0057H(f)/ccOl ot -
#8 2| ML H 9.94 &5 0.0057H(f)/ccD] 2 -
#9 HI28tE 71 9.96 2 E5HH 0.005J4(f)/ccn| 2 -
#10 | HIIS8E32 9.97 2Z 5 0.005JH(f)/ccO] o -
#11| HIISE2XEH 9.84 2 E5HH 0.0057H(f)/ccO| gt -
#12 | HII2LEBXH2 9.82 2Z5H 0.0057H(f)/ccO| o -
#13 | HII2E2XE3 9.82 2 E 5 0.005JH(f)/ccOl o -
#14 | HIISE2XE4 9.32 2AE5H 0.00574(f)/ccOl ot -

B3 |#15| HOIZ2AXE5 |oojaza| 989 8BV iansooosmm/ccniet -

2D | #16 | HOISE2XE6E | (10EA) | 9.92 qg;gg; Z 8131 0.005H(f)/ccOl ot -
#17 | HIISEZXAT 9.90 2 E 5 0.0057M(f)/ccO| -
#18 | HII2EAXES 9.92 2 E 5 0.0057H(f)/ccl -
#19 | HII2E2XH9 9.94 &5 0.0057H(f)/ccl 2 -
#20 | HOI222XE10 9.95 2E5H 0.00574(f)/ccOl 2 =
#21 | HOIS22XE11 9.81 2E5HA 0.0052H(f)/ccO| o -
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